RESRFKIEHB (RK) (TEH)
B B HE 47 58 68 78 8H 98 108 118 128 18 28 38
SR (°c) 13.4 16.0 20.8 29.9 25.2 215 21.0 13.9 — 6.8 — —
KB () 175 20.1 218 21.8 21.6 21.4 21.7 21.0 — 10.9 — —
RBIEHR (mg/L) 0.6 0.5 0.5 0.5 0.5 0.5 0.3 0.7 — 0.8 — —
1 |—BEE 100f8/mLLA T 0 0 0 0 0 0 0 0 — 0 — —
#2 | KIB&E BREShiNIE (=33 (=33 (=33 (=33 (=33 (=33 (=33 (=33 - =3k - -
3 | BRIV LRUZDILED 0.003mg/LEATF <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 — <0.0003 — —
Ha4 |KEBERVZOIEEY 0.0005mg/LLTF — <0.00005 — — <0.00005 — — <0.00005 — — — —
H5 | LU RUZDIEEY 0.01mg/LLLTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 — —
He |SARUZDILED 0.01mg/LLLTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 — —
#7 |[ERRUZDILEY 0.01mg/LLLTF <0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 — 0.002 — —
#Hs |AfE/ALIEEY 0.05mg/LLLF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 = <0.001 = =
Ho |EHBEER 0.04mg/LLLF <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 = <0.004 = =
10 [T MAA D RUBEIES T 0.01mg/LUATF - <0.001 — — <0.001 — = <0.001 = = — —
H1 |EBREERRUEHBEER 10mg/LIATF <0.1 <0.1 0.1 0.1 0.2 0.1 0.2 0.2 = <0.1 = =
12 |7VvRRUZDIEEY 0.8mg/LELT <0.08 <0.08 <0.08 <0.08 0.16 <0.08 <0.08 <0.08 - <0.08 - -
#13 | RORRUVZOILEY 1.0mg/LULTF <0.01 0.02 0.02 0.02 0.02 0.02 0.02 0.02 — 0.02 — —
14 |mEERE 0.002mg/LEATF <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 — <0.0002 — —
15 [14-OFFH> 0.05mg/LLLF <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 — <0.005 — —
16 lff;;_ﬁ‘;_”/”%gf;&u 0.04mg/LLL T <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 - <0.004 - -
17 |[Ponoray 0.02mg/LLATF <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 = <0.002 = =
#18 |Th3YAOIFLY 0.01mg/LULTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 — —
19 |[M)yoOTIFLY 0.01mg/LULTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 — —
£H20 [RoEY 0.01mg/LUATF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 = <0.001 = =
Hot1 |IERE 0.6mg/LLLTF <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 — <0.06 — —
#22 |VOOFFEE 0.02mg/LLLF — <0.002 — — <0.002 — — <0.002 — — — —
23 |/OamILL 0.06mg/LIATF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.002 — —
Hoa |DUDORFE 0.03mg/LATF - <0.003 — - <0.003 - - <0.003 - - - -
Hos [CTOE/OOALY 0.1mg/LUTF 0.002 0.001 0.002 0.001 0.001 0.002 <0.001 0.001 — 0.006 — —
o6 |REE 0.01mg/LLLTF - <0.001 = = <0.001 = = <0.001 = = = =
o7 [HRUNDARY 0.1mg/LLLTF 0.005 0.003 0.005 0.003 0.003 0.004 <0.001 0.002 - 0.014 — —
#og |~ YOO 0.03mg/LUALTF — <0.003 — — <0.003 — — <0.003 — — — —
o9 |TRESH/OOALY 0.03mg/LULTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.003 — —
30 [FOERILL 0.09mg/LUATF 0.003 0.002 0.003 0.002 0.002 0.002 <0.001 0.001 — 0.003 — —
31 |RILLATILTER 0.08mg/LLLF — £0.008 — — <0.008 — — <0.008 — — — —
32 |HINRUVZDIEED 1.0mg/LLLTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 - <0.001 - -
H33 | TSV LRUVZDILED 0.2mg/LLLTF <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 - <0.01 - -
H34 [BRUZDIEED 0.3mg/LLLTF <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 - <0.01 - -
H35 [RUVZDIEED 1.0mg/LULT <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 — —
#36 | TR I LRUVZDIEEY 200mg/LEATF 18.6 17.8 175 16.7 16.5 16.9 17.0 17.0 = 15.5 = =
H37 |[RUHVRUVZDIEEN 0.05mg/LULTF <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.001 — —
#3g |14 200mg/LEATF 16 19 16 16 16 15 15 15 — 13 — —
E39 (AL T4V L0 E (FEE) 300mg/LLLT 38 36 35 33 33 34 34 34 = 37 — =
40 |HREEEY 500mg/LLLTF - 126 — — 116 — — 95 — — — —
B4 |BAF U REFEH 0.2mg/LELT - <0.02 - - <0.02 - - <0.02 — — — —
42 |z RIV 0.00001mg/LEATF - - <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
HA3 [2-FFNAYK WRE-1L 0.00001mg/LELF — — <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
Haa [EAAREFEMER] 0.02mg/LLATF — <0.005 — — <0.005 — — <0.005 — — — —
a5 |Dz/—IVEE 0.005mg/LIATF = <0.0005 — — <0.0005 — = <0.0005 = = = =
Hae | AR (2FERRRTOC)DE) 3mg/LULTF <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 = <0.2 — —
£47 |pHIE 58 E86LLT 8.2 7.9 7.8 7.8 7.9 7.9 7.8 7.9 = 8.4 = =
H48 |k BEETHLIE EBLL EELL EELL EELL EELL EELL EELL EELL - EELL - -
49 |RR BEETHLIE EBLL EELL EELL EELL BELL BELL BEBLL BEELL - BEELL - -
Hs50 |[BE SELT <05 <05 <05 <0.5 <05 <05 <0.5 <05 — <05 — —
51 | BE 2ELT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 — <0.1 — —
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